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(1) EAZEE
(£{K] [35m K] [35~597%]) (60 LI L]
A% (M) | L8 B%=x | A% (F) A% (M) | L& B%=x | A% (F) A% (M) | H&hB%* | A% (F) H% (M) | LEhBE%=* | A% (H)
A B (AXB) A B (A%XB) A B (AXB) A B (A%XB)
&/IME 15, 000 17.0 255,000 =/ME 13, 870 17.0 235, 790 =/IME 14, 204 17.0 241,468 =/ME 10, 330 17.0 175,610
> PN E] 32,118 17.0 546, 006 =ANIE 17,000 17.0 289, 000 =AE 32,118 17.0 546, 006 =XIE 26, 250 17.0 446, 250
F{E 20, 484 17.0 348, 230 EHIE 15, 435 17.0 262, 395 EHE 20, 749 17.0 352,721 F{E 16, 920 17.0 287, 644
R R{E 18,170 17.0 308, 890 R {E 15, 435 17.0 262, 395 o fE 19, 085 17.0 324, 445 h B 15, 551 17.0 264, 359
=4E(E - 17.0 - =4E(E - 17.0 - =HE(E - 17.0 - =4E(E - 17.0 -
AR 7 AR 2 A 6 A 4
(2) IN—bE2 A LFEE
[21K] (35 K] [(35~59#%] [60mLLE]
B% (M) | H#B8%= | A% (A A% (M) | L&#B%= | A% (M) A% (M) | LEhBE%=* | A% (F) A% (M) | H&#B%* | A% (F)
A B (AxXB) A B (AxB) A B (AxB) A B (AXB)
wx/ME 8, 640 17.0 146, 880 w&/ME 8, 640 17.0 146, 880 =/|ME 8, 800 17.0 149, 600 =/ME 8, 640 17.0 146, 880
&XE 14, 400 17.0 244,800 =mAE 14, 400 17.0 244,800 mAE 14, 400 17.0 244,800 PN ] 10, 000 17.0 170, 000
S8 SE] 10, 460 17.0 1717, 820 EHE 11,520 17.0 195, 840 EHE 11,067 17.0 188, 133 S5 SE] 9,320 17.0 158, 440
hR{E 9,400 17.0 159, 800 R fE 11,520 17.0 195, 840 o fE 10, 000 17.0 170, 000 h B 9,320 17.0 158, 440
R4E(E - 17.0 - R4E(E - 17.0 - =AE(E - 17.0 - R4E(E - 17.0 -
AR 4 SR 2 AR 3 AR 2
2 wxIE&E
(1) EFx®E
(21K] (35 ki) [35~59#%] [60mLLE]
A% (M) | L&#hB%=* | A% (F) A% (M) | H#hB8%x | A% (M) A% (M) | H#hB%= | A% (M) A% (M) | HEB%* | A% (F)
A B (A%XB) A B (A%XB) A B (A%XB) A B (A%XB)
&/IME 10, 330 17.0 175, 610 =/ME 13, 050 17.0 221, 850 =/IME 14,014 17.0 238, 238 =/ME 10, 330 17.0 175,610
> PN ] 20, 000 17.0 340, 000 =mANE 15, 050 17.0 255, 850 mAE 20, 000 17.0 340, 000 > PN ] 26, 250 17.0 446, 250
T{E 15, 286 17.0 259, 855 EHE 14, 050 17.0 238, 850 EHE 16, 197 17.0 275, 341 S5 SE] 16, 920 17.0 287, 644
hR{E 15, 000 17.0 255, 000 R {E 14, 050 17.0 238, 850 R fE 15, 280 17.0 259, 760 h i 15, 551 17.0 264, 359
=AEfE 15, 000 17.0 255, 000 =AEfE - 17.0 - =AEE 15, 000 17.0 255,000 =AEE - 17.0 -
AR 7 AR 2 EF N 6 AR 4




(2 R—=b24 LFHEE

(£{K] [35m K] [35~597%]) [60m LI L]
A% (M) | L8 B%=x | A% (F) A% (M) | L& B%=x | A% (F) A% (M) | H&hB%* | A% (F) H% (M) | LEhBE%=* | A% (H)
A B (AXB) A B (A%XB) A B (AXB) A B (A%XB)
&/ME 8, 640 17.0 146, 880 &x/ME 8, 640 17.0 146, 880 =&/IME 8, 800 17.0 149, 600 B /ME 8, 640 17.0 146, 880
KB 11, 600 17.0 197, 200 =ANIE 11, 600 17.0 197, 200 &KXIE 12,000 17.0 204, 000 KB 10, 000 17.0 170, 000
F5fE 9,760 17.0 165, 920 {8 10, 120 17.0 172, 040 FH4{E 10, 267 17.0 174,533 F5fE 9,320 17.0 158, 440
PR{E 9, 400 17.0 159, 800 FR{E 10,120 17.0 172, 040 FR{E 10, 000 17.0 170, 000 PR{E 9,320 17.0 158, 440
=HE(E - 17.0 - =HE(E - 17.0 - =AE(E - 17.0 - =AE(E - 17.0 -
A 4 AR 2 A 3 A% 2
3 FEyEE
(1) ERzEE
[21K] (35 K] [(35~59#%] [60mLLE]
B% (M) | H#B8%= | A% (A A% (M) | L&#hBE%= | A% (M) A% (M) | LEhBE%= | A% (H) A% (M) | H&hB%* | A% (F)
A B (AxXB) A B (AxB) A B (AxB) A B (AXB)
&/ME 14,713 17.0 251, 141 &/ME 13,510 17.0 229, 670 =/IMiE 14,109 17.0 239, 853 Bx/ME 10, 330 17.0 175, 610
=N 1] 25,324 17.0 430, 508 RAXI{E 16, 025 17.0 272, 425 =KXIE 24, 861 17.0 422,637 &XE 26, 250 17.0 446, 250
T5fE 18, 039 17.0 306, 663 {8 14,768 17.0 251, 048 FH{E 18,512 17.0 314, 698 T{E 16, 920 17.0 287, 644
RR{E 16, 025 17.0 272, 425 FR{E 14,768 17.0 251, 048 I R{E 18, 550 17.0 315, 350 RR{E 15, 551 17.0 264, 359
=4E(E 20, 000 17.0 340, 000 IE(E - 17.0 = =HE(E 20, 000 17.0 340, 000 =4E(E - 17.0 -
AR 7 SR 2 AR 6 AR 4
(2 IR—=+2 A LFEE
(21K] (35 ki) [35~59#%] [60mLLE]
B% (M) | H#mB8%= | A% (F) A% (M) | L&#BE%= | A% (M) A% (M) | L#BE%= | A% (F) A% (M) | H&#B%* | A% (F)
A B (A%XB) A B (A%XB) A B (A%XB) A B (A%XB)
&/ME 8, 640 17.0 146, 880 &/IME 8, 640 17.0 146, 880 =/ME 8, 800 17.0 149, 600 =/ME 8, 640 17.0 146, 880
RX{E 12,948 17.0 220, 115 =AXIE 12,700 17.0 215,900 xKIE 13,050 17.0 221, 850 RX{E 10, 000 17.0 170, 000
T5fE 10, 097 17.0 171, 649 518 10, 670 17.0 181, 390 FH4{E 10, 617 17.0 180, 483 F{E 9,320 17.0 158, 440
RR{E 9, 400 17.0 159, 800 FR{E 10, 670 17.0 181, 390 R R{E 10, 000 17.0 170, 000 FR{E 9,320 17.0 158, 440
=AE{E - 17.0 - RIR(E - 17.0 - =HE(E - 17.0 - R4A(E - 17.0 -
AR 4 AR 2 EF N 3 AR 2




